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1(a) Find a formula for the n* term of the sequence (%, —%, %, —15—6, %, o)

(b) Consider the sequence a, = Z:l—irr{ Does it converge, and if so, what is the limit? Explain
your reasoning.
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(c) Say carefully what it means for a sequence {a,} to be monotone.
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2(a) Sketch carefully the curve r = 1 — 2sin 6.

(b) Find % for this curve, in terms of 6.
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3(a) Find all intersection points between the curves r = 2 and r = 4 cos 6.
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(b) Find a polar equation for the curve zy = 4.
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4. Find the area enclosed by one loop of the curve r = 4sin(36). (Draw a picture!)
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5. Find an equation of the tangent line to the curve z = 10 — 2, y = t3 — 12t at the point (6,—16).
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6(a) Write down a parametrization (together with a “time” interval) for the upper half of a circle
of radius A centered at the origin.

(b) Rotate this curve about the z-axis and use an integral to find its surface area. What surface
is this?
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